
NPS-1  Piano Stand 

lnstallation Guide 

List of Parts 

Backboard 

Left Sideboard Right Sideboard 
Triple Pedal Unit

f' Corner Bracket Quantity: 4PCS 

� Sideboard Stand Pad Quantity: 4PCS 

� M6*20 Screw Quantity: 4PCS 

- M5*35 Screw Quantity: BPCS 

- BA4*12 Screw Quantity: BPCS 

- KA3.5*12 Screw Quantity: BPCS 

c:::::::J Wooden Connector Quantity: 2PCS 

� Cable organizer Quantity: 2PCS 

Installation 

1. Assembling the two Side Boards.

Corner Bracket 

Left Sideboard Right Sideboard---

Sideboard Stand Pad 

2. Assembling the Triple Pedal Unit & the Backboard.

a. Lay down the Triple Pedal Unit on the leveled ground, 

untie the triple pedal cable. Attach the triple pedal unit 

to the sideboards with 4 M5*35 screws.

F 

Triple Pedal Unit 

M5*35 Screw 

M5*35Screw 

b. Put wooden connectors into the backboard as shown.

Backboard 
� 

[-----�---J-------]·)cU 
t 

Wooden Connector 

c. Secure the backboard to the sideboards with 4 M5* 35

screws.

Backboard 

M5*35Screw 

3. Mount the Keyboard.

Hold the keyboard horizontally, and place it on the stand,

then secure the keyboard to the stand with 4 M6* 20

screws. Plug in the triple pedal cable to the [Triple Pedal]

Jack, use the cable organizer to keep the triple pedal cable

in place.

� ao o 
0 1· �· ·1C} Ba= 

=1....J , 

M6*20Screw 

�Cable organizer 

4. Installation completed.

www.nuxefx.com 
Made in China 




	页 2
	页 3



